
UPGRADED LADDER FACILITY FITTING NOW
 

CAN BE LEFT HAND SIDE OR RIGHT HAND SIDE



02



03



04

1/4 x110 mm Screw 8

8

22

18

1

74

38

4

2

44

4

6

1

7,0 x 100 mm Screw

7,0 x 50 mm Screw

4,0 x 35 mm CC Screw

10 x 40 mm Wooden dowel

15 x 90 mm Wooden dowel

Wooden spacer

18 mm Plastic cap

Glue

Allen key

1/4" Elliptical nut

You wil need screwdriver and small mallet (not provided).

O Plastic hole cover 8mm

Plastic hole cover 10mmP



05

22x



06



07



08



09



10



1010

11

12

13

DDD

EEE

OPTION 1: ASSEMBLING LADDER ON RIGHT HAND SIDE

D

D

D

D

M

D

D

D

D

M

M

MM

M

M

M

M

MM

M

M

D

D

D

D

D

D

D

D

12 x

D
D

3

411

11

11

11

D



12

WARNING:
THE MATRESS SURFACE MUST

NOT BE ABOVE THIS LINE.

14

15
DD

EE

OPTION 2: ASSEMBLING LADDER ON LEFT  HAND SIDE

M
12 x

D
D

D

D

C

C

C

D

D

D

D

D

D

D

D

D

D

D

D

M

M

M M

M

M

M

M

M M

M

M

6 6

4

3

11

11

11



13

D
D

C

C

D

D

D

D

16

17

WARNING:
THE MATRESS SURFACE MUST

NOT BE ABOVE THIS LINE.

D
D

D

D

C

D

6 6



14

Your Mya / American Bed Is Now
Complete And Ready To Use.

18

F

F

F

F

F

F

F

F
F

F

F
F

MM

M
M

O

O

P
P

32 x

M

M

M

M

M

M

M

M

M

M

M

M

M

M

M

M

P

P
O

O

P
P

15

15

M

M
M

M
M

M

M

M

M



15


	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10
	Página 11
	Página 12
	Página 13
	Página 14
	Página 15



